5 FRERH A S

A A B
K XFE10-13
¥ 5 311002040106
wHRHT: WM P



B FRAEE LSRR LR v, 5
A g | S P 7
B HERRXNELEYAE R AT R G rerrerenerrnnnnens 3

%m% KE¢%%$%%%Rﬁ ................................. 14
g XET Zﬁﬁé’]%& ....................................... 20
W TAEHATEKE B erererrererereenaaiiinann 23
% -17 K*%If’l};@ﬁﬂf’l};_]k@%mﬁ]ﬁﬂ ........................ 24

B H i — sk

FH IR BB BER G X E N EJFR K A KRR, REE
FE R R TRRMCA A F R R, 1%k Gip) XGERAKSE 3000m, HRH FE
1100m, R Cifr) XA BIEZHGEC-FAS, G e, Tz, K BRZ)E TR
Iz, R =2, KEZEPEZR, SHZ O b EER, B K
WA B s, WK EWREN . W R AR 9 +30m, R RS A-30m. 2 —
TR AZR Gl ) XARST 1 — S oA BLAE K, BRI T 7 25m Ak A
SELET, A RIZR CGif) X7 ARG I H AR I8 T ARYE R A A A

MBI E HATIRE -
BT EER, AR NV BETH ARG S5 T2 P N IR PR X HE 7 ik
T, R TIMUR A 160, AEFRRE N 180 JT t/a.

2






TR XRG4 A

BE (m AR MR
860 | KEeRF &, ah )z
@V s, AR AL E
8.40
020 AR =, M
6.90
KIEE, v=1.30t/m3
4.20
KewRiks, WEH 2,
7.80 1258
o\
K2 2, v=L1.30t/m3
24.68 Kaeehs ., 1B
Ked, WeEE R




BT RXMEERSER
1 1.1 RXAEFRES

KX RE SRR X HE S T b HESH, e AU HE A E A A BOGE, TH
FERSETTERAE T RGEFATAHARG FE R T RN, B 2 R X A7 B8 0 A -
(1) REXA BT 5 LR MRAF 2 A P 5 2 AFAH & o
(2) REXAPHEST 5 R IX A ) A BE A (R RA8H AHIE R o
(3) REUAF#BET G R IX A BAIERL,  PAORIER DT A7 1R 9 o
R LT, RIXAF#REJIETE N 180 JIM/4E.

1 1.2 RXK T AEE. BOHAREE

(1) KXol fit &
KX Tk B AR XA A, eid st Eh R AR 2 5 AN o B A5 5 TR 3K
H AT R A BRI KA i . 2 DAL B 5 A N

Zc=SLYm, v ; (K 1-D

I=1

R 72— TolkfgeE it
S KX GEMKE 3000 K
L KX AHE 1100 K
m, = 51 RBMER 6.9 K

S BiEMMAEE 1.3t/m?
2
Ze=SLYm, v

1=1

=3000X1100X (6.9+2.5) X1.3=4032.6 CJjhli)

(2) ARAEREHH:

BOH R R X DAL R ERTZ . Bk, FFHER . imd () VS K AR
BN Aa . BRI E R AR AR OB R . i 7E 2R X B P 190 7K
ARIIERE R AT IR o Sk R B



I Lolk it MRS (7 0 -
p— - B I f
R wiE | TR | mEEx | e | Y
K, B2 2960. 1 0 0 80. 73 % 2879. 37
K, B2 1072. 5 0 0 29. 25 1043. 25
Hit 4032. 6 0 0 109. 98 3922. 62
B WEE EE SR R 30m B 1k
KX B AT R =
30M
10M 70M 10M
10M

FLRAE B AR R X BT B8 25T R AR TE K B R L RS B W] UK B4
B AR LR X (Rl Re A o T AE 12 R (X L A T8 40 AT AP R P B R A R X [l R T 2 R

L BRA HREAE
M R TV FE BT RITE Y 2 ) 5 ORAP A 4 T 3%
12
KA D AR AR S () JEAE IR ()
8 4 7 ARTE—) P 2 (] ARTE—) PR A 2 (]
VS PN 20~30 — 25~50 —
2 B[] R A 20 — 20~30 —
KX Ll 20 20~25 30~40 20~25
X B kiE — 8~25 — 15~20
KX 5 — 10 — 10




£ LT ZR X AT R A RN

7=(Z.—XP) XC (X 1-2)
X zZ—— KX ARG R
Z————— Tk it & s
C—r KR E, JEHEAMET 0.75, FEBEAMET 0.8, HEEAMKT 0.85;
¥ p-—————- BEFERUR Py P, Py Py R
P R IX_E RN FH 3 5 S 2 e Sk AR B 30 SKREAT: s
P, KX FEBE 10 KRR
Py R TR S B 10 K
P, ———— RIX B J7 R EAE, Wigk LR R 30 oK, PIAAFE 20 K, JEit 30+20+20=70

7.=(2,-P) XC= (7,-P) XC,
=[3000X 1100X 6. 9X 1. 3—(30+10) X 3000 X 6. 9X 1. 3-(2X 10+70)

X 1100X6.9X1.3]X0.75+[3000X 1100X 2. 5X 1. 3—(30+10) X 3000X 2. 5X 1. 3-(2X 10+70)
X 1100X2.5X1.3]X0. 80

= 2873.80 (i)

R 13 W BT ARG R R

i YA )
WIT e (2
wEs | T s Wi D | XK | 7T R R
B T i ) ——— Wi R
i B (30) BET e )
i) T4 | SR | CFing)
UL
KHZE | 2960. 1 2879. 37 0 59.20 | 46.65 | 2773.52 75% 2072.74
K, 52 1072.5 1043. 25 0 21.45 16.9 1004. 9 80% 801. 06
&it 4032. 6 3922. 62 0 80. 65 63.55 | 3778.42 2873.80
1. 1. 3 TFER X FI RS EFR

RIXMHE S AL, BB R IRSFERI, RIERA H AR B A, R XN ORIE
TR, DMRAER H REVS X i Ag ™ =

T=7,/ (AXK)

/e KX A RA =

A——— KX AR

K- EAH RS, B 1.3-1.5, dyxikit b R 5 2 i 5
L K=1. 3

T=7,/AXK=2873.80/ (180X 1.3) =12. 28 4F.



1. 1.4 WEEXFEHER

[ 0 K R e T i dliEAR, BEEEMET 75%, HEEAMET 80%. AKX KH
AR, SE R R A — R TAERGE RN (3000-70-2X10) /2=1455m fHi#}
KA 1100- (10+30+4 X 5) =1040m #5 0] 434 5 AN X B PUAS/INEAE 10 > A A TAF &
-4 1040/5=208m

R XK H B8 =R [X SEBRR & /SR X Tk i & X 100%

USa-

K, MR R Z=S,, 5 X L, 5 Xm X ¥ X0. 93X 10/SLm,r X 100%

=1455X 208X 6. 9X 1. 3 0. 93X 10/ (3000 X 1100X 6. 9X 1. 3) X 100%
=85. 29%
85. 29%>75%, £ & HLAE -
K, 2R =S, 5 X Ly s X, Xy X 0. 95X 10/SLm,r X 100%
=1455X 208X 2. 5X 1. 3X 0. 95X 10/ (3000 X 1100X 2. 5X 1. 3) X 100%
=87.12%
87. 12%>80%, A MlsE.

B REBIERS

1. 2.1 B e R TAR K E

M CVA PR R SR A TS 10m I FVEAE, R38R 30m Bk A, TR 10m
RIXHFERE, RSB LR A f (a1 BE S 70m, R X AR AT % 10m, ML
FEim L 1100-40=1060m P E, E MR 3000- (20+70) =2910m. HbJii#4i& 75, JiE
JEMHAE AR, AR RN BRI TR A &S, BRI T2 25k
HRLER . R, —MRIME, BRI IR BT R R 4R TAEm K N 180~
250m, EIETE LA Am~4. 5m, AR XIEE 4m, HRXAEFZRE SN 180 i t/a, — AN EHM)Z
B — AN A T A6 P DA A A 7= R, SR A I 2o i s 7 2, 6 () B /IR, B 5 oK, T 1-2:

10

KWi-1 SRR 7w &K
8



(I-P,-P,) /5=(1100-10-30) /5=208 ¥

PR R AR X BT 5 oK, XBCOPERE 4 K, FrbATAE
HRHE N 208- (2X4) =200 K

1.2. 2 B RXAXBHE &k T/AER%HE

A B AR TR B R AR T &7 i 2B 25 A, 76— s Yl P9 386 AR T K e 3R 15
B mILREACR, BRRAS, [FBRINK TAEEKE, AT LA X B, js A1
PR, RBITHERALSGRLZ, RER[FEHIIE, Fibvie R 5 A XE 10 A TAEm
g,

WRIX N RIX, XBE&EEENKEN
{3000~ (2X10+70) }/2=1455 K

FHorp 3000m AR IXGE R, 70m Aiafi. FUE Bl A EE A R AR, 10m AR IX A
A1 FAERE

1. 2. 3 Wi TAETE A= fE 7
R ARG P IR R E R, el B IR, BIELL. R
GE LR R T, ARBCORA — X 10, W% TR 07 RERIRDC = B 180 J30G /4.

1. 2. 4 B K X Y FIR AR TH M B R 38 BT

BUCHH AP SRE R R R, — 87—, Wb TAEA B, $Em N3P ie, oA Bt
P EATRIA, A B A FoR, RIX & AR AT B QR -
AR -
K M2 11101-—11102-—-11103-—11104-—11105-—-11106-——
—11107—— 11108 11109 11110,
K, M2 11201-—-11202-—-11203-—11204-—-11205-—-11206-——
—11207 11208 11209 11210,

T KREE, BEE 2.5 K, AL 1t )8 LAk

K Bz K, Bt J=
11101 11102
11103 | 11104
11105 | 11106
11107 | 11108
11109 | 11110




i

B=

HERRE AR EER

1. 3. 1 EER X R HETHEEE:

FERIX B3 K, I 2 AR 25 K AbAn B B XS, @il B XA ]S TAEEAE, ERX T
BB K, BEE AR 25 K ALAT B 1S A

L3 2HERXBEMERS, MLLKE. MERE=MHEFR
BT OB
TR Wi LA, AUE LA, GBS AT B KRBT 10 L.

TR Pk b, #WA BT

11 11
201 202
11 11
203 204
11 11
205 206
11 11
207 208
11 11
L BRAR
N

= Mg b, A, BRE RIIAE, PUE R E T KEZEN, EiE Rl
BTHZIRBCT 10 KAk,

*®1-5 M ELERAER

WIES Wk S TR HER=
AR THEE HH THEE HH THE 2 H
(HiTe) (Jioe) (Jiom)
TFEAFR
SH Bl | 1578 | 1100X1.2 | 416.6 0. 00 0. 00 1100X 1. 2= 208. 3
(m) X2 =2640 1320
S 2 bl 1100X 1.2 | 338.97 | 1100X1.2= | 169. 48
(m) 1284 0. 00 0. 00 X 2= 1320 8

10




2640
(NN 1.2X3.14 70.5 0. 00 0.00 | 1.2X3.14X 23.5
(75/m?) 144 | X42X15/0 42X5/0. 924
. 924 X 5= X 5
4893. 506 =1631. 796
it 487. 1 338. 976 401. 288
£ 1-6 4P EHE
VIE S HHE Ik =
kS
LA TrEE 7 H THE&E 2 THE&E 2
TFE4 R r CHB) (HiTe) (HiTe)
HAE 40 2640 X 15 158. 4 0. 00 0. 00 1320X 15 79. 2
(Jo/H*m) =39600 =19800
JRZ 90 0.00 0. 00 2640 X 15 356. 4 1320X 15 178. 2
(JB/%F*m) =39600 =19800
&1t 158. 4 356. 4 257. 4
F£1-71 FHRILRE
7R HR— TE HR=
I H
P8 13t 2% 487. 1 338.976 401. 288
i Ak st 158. 4 356. 4 257. 4
At 645. 5 695. 376 658. 688
*£1-8 HEARMEE
THE— HHE HHE=
Wk LIl ELE S M TR AR
it e m, YRR S




PL B BRSO SAS R T8, AR BRI — PN E.
METREEE, HViH:
https://d. book118. com/088063130044006060

12


https://d.book118.com/088063130044006060

